Operaciones Mixtas oe Corazones (C)

2 = vV =1
N

17 — T =9
N

4 — D -3
: ,

8+ H =15
N

6+ J =15
N

3x L =18

.Cual es el valor de cada corazén?

7+ B | =11 9+ € =13
o’ o’
3= S —9 10— A  —g¢
v v
41+ P =9 2% M =16
p— A
13— E =38 3x K =27
N  _—
Tx R =21 7+ F =23

Ahora calcule las siguientes respuestas:

S + € =
|

Q + T =
W
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Operaciones Mixtas oe Corazones (C) Respuestas

.Cual es el valor de cada corazén?

9+ W —1 7+ B =11 9+ € =13
N o’ o
) 4 4
17— T  —g 3= S —9 10— A  —g¢
8 7 4
4 — D =3 4 + P =9 2 X M =16
N p— A
1 5 8
S+ H =15 13- E  —38 3x K =97
Ny N  _—
7 5 9
6+ J =15 7x . R | =21 7+ F =38
" & &
9 3 I
3% L  —18 2:- N  —¢ 5— Q@ =4
§ 7 1

Ahora calcule las siguientes respuestas:

<o

Q + T =9
W
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